
 
 

Triangle Match! 
Isosceles Triangle 

An Isosceles triangle is a triangle 
with at least to equal sides 

 
 

 

Scalene 
An Scalene triangle is a triangle with 
no equal sides or all of the sides are 

different 
  

Right 
A Right triangle is a triangle with at 

least one angle that measures 90 
degrees 

 

 

Obtuse 
An obtuse triangle is a triangle with 
one and one only angle greater than 

90 degrees 
   

Acute 
An Acute triangle is a triangle with 
three angles less than 90 degrees 

 
  

 
 
 
 
 



 
Instructions: 
First, you want to cut the cards apart and mix them up. Place all cards face 
down. Then, the first player chooses two cards and faces them up. If the 
definition matches the picture then take the two cards and put them by you, if 
they are not matching, then, face them back down and let the next person go.  
 

 
Rules: 
If you touch a card you have to turn it. If the definition fits more than one 
picture then look at the answer key to see which one is correct. 
 

 
Contents: 
5 definition cards, 5 picture cards, and instruction sheet 
 
 

 



 
 
 
 

Triangle Match Answer key! 
Isosceles Triangle 

An Isosceles triangle is a triangle 
with at least to equal sides 

 
 

 

Scalene 
An Scalene triangle is a triangle with 
no equal sides or all of the sides are 

different 
  

Right 
A Right triangle is a triangle with at 

least one angle that measures 90 
degrees 

 

 

Obtuse 
An obtuse triangle is a triangle with 
one and one only angle greater than 

90 degrees 
   

Acute 
An Acute triangle is a triangle with 
three angles less than 90 degrees 

 
  

 


